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Is there any more virtuous practice than eating an apple
a day? Maybe not — unless it's eating a banana instead.
Don't [fall] [into] [the] [trap] [of] buying the same fruits
week after week [just] [because] you're in the habit of
always packing an apple for lunch, for example. A large
Red Delicious might [cost] [as] [much] [as] $1, depending
on the season, when an orange might cost [half] [as]
[much] and a banana only a fourth. If that's the case,
take a minute to ask yourself: Is having an apple really
[worth]
instead?

[four] [times] [as] [much] having a banana

Put if

[substituted] a less expensive banana for apples, you'd

another way, your family of four

save $1,100 in a year without [making] [any] [changes]
[to] It's

important to note that the prices in this example are

your budget and without shopping around.

from the same supermarket. Shopping at numerous
stores isn't necessary when you know what the costs of

simple [substitution] are in terms of variety and size.

Is there any more virtuous practice than eating an apple
a day? Maybe not — unless it's eating a banana instead.
Don't [____ 1 [__ 1 0l.__11[.____ 1 [.__] buying the same
fruits week after week [_____ | I ] you're in the
habit of always packing an apple for lunch, for example.
A large Red Delicious might [_____ I S I P 1[.__] $1,
depending on the season, when an orange might cost

[L____ I D I ] and a banana only a fourth. If that's
the case, take a minute to ask yourself: Is having an
apple really [______ I I I I [ S I P ] having
a banana instead? Put another way, if your family of
four [____________ ] a less expensive banana for apples,
you'd save $1,100 in a year without [_______ 1 [Lo___ ]
| ] [.__] your budget and without shopping

around. It's important to note that the prices in this
example are from the same supermarket. Shopping at
numerous stores isn't necessary when you know what the
costs of simple [____________ ] are in terms of variety

and size.
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Punishment can be [imposed] by the person or group | Punishment can be [_______ ] by the person or group
against whom the [transgressor] transgressed, or by a | against whom the [____________ ] transgressed, or by a

(guilt acts as a form of
[a]
like the energy needed to

third party, or by oneself

self-punishment). Generally, punishment [carries]

[cost] [to] the punisher,

perform the punishment, as well as some risk of
revenge. Punishments that are extra dangerous or risky
are considered costlier. Sometime in our distant past, we
realized that mere exposure to [public] [humiliation] could
[be] [used] where physical, often violent elimination from
the group had previously been required. The [emergence]
of [shaming] as [a] [social] [option] would have reduced
the [cost] of punishment, because mere [exposure] that
[served] [to] [damage] an individual's [reputation] in front
of the group could have negative consequences — for
instance, members of the group might choose not to

cooperate with the [shamed] individual in the future.
Shaming and [social] [exclusion] are closely linked, but
shaming is less costly. And unlike [transparency], which
exposes everyone, [shaming] [exposes] only a section of

the population.

(guilt acts as a form of

[--]

like the energy needed to

third party, or by oneself

self-punishment). Generally, punishment [______ 1
[L____ ] [.__] the punisher,
perform the punishment, as well as some risk of
revenge. Punishments that are extra dangerous or risky
are considered costlier. Sometime in our distant past, we
realized that mere exposure to [_______ | I D ]

-] [ ]

elimination from the group had previously been required.

could where physical, often violent

that [_______ ]

individual's [_________ ] in front of the group could have

mere [_________ 1

negative consequences — for instance, members of the
group might choose not to cooperate with the [_______ |

the and [_______ |
are closely linked, but shaming is
And ].  which
everyone, [__________ | I ] only a section of the

individual in future. Shaming
less
unlike

costly. exposes

population.
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One of the greatest barriers to human understanding and

communication is that we cannot see [inside] another

person's mind. This limitation [gives] [rise] [to]
[unintended] [misunderstandings] and allows people to
[employ] all sorts of [deceptive] [strategies], both

consciously and unconsciously. Some of the ways digital
technology is helping us [overcome] this barrier include
various means of truth (or lie) detection, [multimodal]
communications, and digital [readout] of our own and
others' brain waves. Already, researchers at Carnegie
Mellon University (CMU), using digital computer analyses
of brain patterns captured by functional magnetic
resonance imaging (fMRI) scans, are able to tell what a
person is thinking about. It is likely, according to these
researchers, that our children will, in their lifetimes, be
able to read people's thoughts and even [gain] [access]
While these

[ethical] [issues] and

[to] direct brain-to-brain communication.
developments will clearly [raisel]
privacy questions that will have to be [addressed], there
can be little doubt that as people [gain] [access] [to] and
[take]

[motives], thoughts, needs, and judgments in their own

learn to [into] [account] others' [unspoken]

thinking, their [wisdom] will [increase].

03

One of the greatest barriers to human understanding and
communication is that we cannot see [______ ] another
mind. This [___]
allows people to
| ] all | ]. both
consciously and unconsciously. Some of the ways digital

person's limitation [_____ 1 [o____ ]
and

sorts of [__________ ]

technology is helping us [_________ ] this barrier include
various means of truth (or lie) detection, [___________ ]
communications, and digital [_______ ] of our own and
Already,
Mellon University (CMU), using digital computer analyses

others' brain waves. researchers at Carnegie

of brain patterns captured by functional magnetic
resonance imaging (fMRI) scans, are able to tell what a
person is thinking about. It is likely, according to these
researchers, that our children will, in their lifetimes, be
able to read people's thoughts and even [____] [_______ |
[___] direct brain-to-brain communication. While these
developments will clearly [_____ | I | I P ] and
privacy questions that will have to be [__________ ], there

can be little doubt that as people [____] [_______ 1]

[ __ ], thoughts, needs, and judgments in their own
thinking, their [_______ Twill [________ ]
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In his Nicomachean Ethics, Aristotle used the example of
a builder and a shoemaker to demonstrate an important
the builder the
shoemaker, then the shoemaker must [pay] [for] the work

point. If constructs a house for

in shoes. "But to determine how many shoes will [be]
[paid] [to] the builder, a [proportional] [equality] must be
[established] between the goods, and then [reciprocity]
effected. Only then will the [fair] [exchange] be realized.
the exchange is not
The builder

would not [have] [need] [of] as many pairs of shoes

But if there is no [proportionality],
equal and fair and will not hold together."

is where money
[of]
of shoes to the

necessary to compensate him. This

enters. It serves as a proportional [medium]

[exchange]. The proper [proportion]
house in money terms makes the deal [just]. It is not
simply a pricing mechanism but must be capable of
producing well-being as well. "Thus, money acts like a
[measure]: it makes goods [commensurable] and equalizes
them. For just as there is no community without
exchange, there is no [exchange] without equality and no

equality without [commensurability]."

04

In his Nicomachean Ethics, Aristotle used the example of
a builder and a shoemaker to demonstrate an important
the builder the
shoemaker, then the shoemaker must [_____ 1 [____] the

point. If constructs a house for
work in shoes. "But to determine how many shoes will
1 [L____ 1 [_.__] the  builder, a [____________ ]
[ __ ] must be [___________ ] between the goods,
effected. Only then will the
be But if is no
the exchange is not equal and fair
The builder would not [_____ 1

as many pairs of shoes necessary to

realized. there
and will not hold together."
[.__]
compensate him. This is where money enters. It serves
as a proportional [_______ | I Y I 1. The proper
[ __ ] of shoes to the house
makes the deal [_____ . It

mechanism but must be capable of producing well-being

in money terms
is not simply a pricing
as well. "Thus, money acts like a [_________ ]: it makes
goods [______________ ] and equalizes them. For just as
there is no community without exchange, there is no
] without equality and no equality without

[ 1
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Green marketing tries to [overcome] consumer [distrust] | Green marketing tries to [_________ ] consumer [________ ]
to [induce] positive [associations] between businesses and |to [_____ ] positive [___________ ] between businesses and

the natural environment. Such marketers often make

claims that are [vague], [unprovable], misleading, or

[unprovable]. Common techniques include using words

that [imply] [sustainability] (clean, clear, natural, pure),
images of nature, brown and green [color] [scheme], and
recycled- or organic-looking [content]. Companies
sometimes promote a green image by [sponsoring] Earth
Day events and making [donations] to ecological
charities, or [facilitating] customers doing so. Some of
and vocabulary were once

these practices, aesthetics,

[emblematic] of alternative media, many of which are
driven by a sincere green [ethos]. Green marketing has
become so [suspect] that some businesses avoid the
Instead, they label their activities “sustainability
which

[operational]

term.

ideally engages audiences in

that
[decrease] a business's [environmental] [footprint] and

communication,”

supporting [changes] [substantially]

contribute to solving [social] problems.

the natural environment. Such marketers often make

I Lol ]

Common techniques

claims that are misleading, or

include wusing words

that [_____ | B ] (clean, clear, natural, pure),
images of nature, brown and green [____] [______ ], and
recycled- or organic-looking [_______ ].  Companies
sometimes promote a green image by [_________ ] Earth
Day events and making [_________ ] to ecological

charities, or [ ] customers doing so. Some of

these practices, aesthetics, and vocabulary were once

] of alternative media, many of which are

driven by a sincere green [ ]. Green marketing has

become so | ] that some businesses avoid the

they label their activities “sustainability
which

term. Instead,

communication,” ideally engages audiences in

that [

contribute to solving [ ] problems.
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Both poetry and mathematics are hard to understand.
The reason for students’ difficulties is almost always the
same: the teacher doesn’t say [all] [that] [he] [knows]. He
[skips] things. Even if he is aware of everything that
came before, he doesn't have the time to [spell] them all
[out]. lot of
statement is what [compression] is all about. And it is

Conveying a information in a single
this type of [compression] that is responsible for the
difficulty in understanding poetry and mathematics. But
the

[compression] in mathematics is [vertical], while poetical

there is a significant difference between the two:

[compression] is [horizontal]. In other words, in
mathematics many stages, built like floors one upon the
other, [are] [hidden] within a single statement. In poetry,
many distinct ideas, not necessarily vertically ordered,
are [compressed] into one expression. This is why the
[vague] understanding of poetry [causes] [no] [harm],
while a [hazy] [comprehension] of mathematics [gets]
[back] [at] us in a later stage, when the next floor is
built.

* compression: U4&

QF= %% hazy: L33

02
Both poetry and mathematics are hard to understand.

The reason for students’ difficulties is almost always the

same: the teacher doesn't say [____] [___1[__] [-.___ 1.
He [_____ ] things. Even if he is aware of everything that
came before, he doesn’'t have the time to [_____ ] them
all [___]. Conveying a lot of information in a single
statement is what [___________ ] is all about. And it is
this type of [___________ ] that is responsible for the
difficulty in understanding poetry and mathematics. But
there is a significant difference between the two: the
] in mathematics is [________ ], while poetical

[ ___ 1 is [_________ ]. In other words, in
mathematics many stages, built like floors one upon the
other, [____11[______ ] within a single statement. In poetry,

many distinct ideas, not necessarily vertically ordered,

are [___________ ] into one expression. This is why the
[_____ ] understanding of poetry [_____ 11.211_.___]1 while
a [ ) [ _____ ] of mathematics [____] [____] [__]
us in a later stage, when the next floor is built.
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We do not [recollect] events [exactly] as we experienced | We do not [__________ ] events [_______ ] as we
them. Most often, our [recollection] of an event differs | experienced them. Most often, our [____________ ] of an
[substantially] from the actual event. This is because the | event differs [____________ ] from the actual event. This

way the brain processes and stores information differs
from how a computer works. For example, we tend to
[extract] the [gist] and meaning from our experiences so
that what we [infer] may be [mixed] [up] [with] what we
actually experience. If we hear a list of words related to
sleep (e.g., bed, rest, awake, etc.), we tend to [recollect]
“sleep” as being on the list, even though it is not. Also,
unlike a computer recovering a file, some memories can
[interfere] [with] the [retrieval] of other memories. If a
long time has [elapsed] since experiencing a particular
event, and if you have experienced similar events several
times since the original experience, [chances] [are] you
would find [it] difficult to [recollect] the original event
exactly [as] [it] [happened]: your memory of the original
event may [get] [mixed] [up] [with] memories of related
events.

* gist: @7 *x retrieval: 34}, 2

*xx elapse: (A]7Fo]) Ayttt

is because the way the brain processes and stores
information differs from how a computer works. For
example, we tend to [_______ ] the [____] and meaning
from our experiences so that what we [_____ ] may be
[_____ 1 [._]1 [.___] with what we actually experience. If we
hear a list of words related to sleep (e.g., bed, rest,
awake, etc.), we tend to [__________ ] “sleep” as being on

the list, even though it is not. Also, unlike a computer

recovering a file, some memories can [__________ 1.__]
the [__________ ] of other memories. If a long time has
] since experiencing a particular event, and if

you have experienced similar events several times since
the original experience, [_______ ] [.__] you would find
[___] difficult to [__________ ] the original event exactly
RN I PRSI I PO I
may [___] [L_____ ]
events.

* gist: @74 ** retrieval: g4}, 2
*xx elapse: (A]{Fo]) ALt}

your memory of the original event

[--]

[____]1 memories of related
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Power is a common form of the [urge] [for] [control]. | Power is a common form of the [____1 [___] [_______ 1.
There is an entire social science, political science, | There is an entire social science, political science,
[devoted] [to] studying power — and that is a persuasive |[________ 1 [_._] studying power — and that is a

sign that it is an important and fundamental aspect of
life.

other people. Researcher David G. Winter [defined] it as

human Power essentially involves [control] [over]
the ability to produce [intended] [effects] on another
person’s actions or emotions. Some may [seek] [power]
as a [means] [to] [an] [end], such as on the assumption
that once one is elected, one will be able to bring about
certain much-wanted changes. But others probably [seek]
[power] [for] [its] [own] [sake] and [derive] [satisfaction]
directly from being able to make other people change the
way they act. Actually, the specific goal of people with a
high [craving] [for] [power] appears to be that they want
to have an [impact] on other people’s lives, which does
[people] [do] [things].
Having an impact can be for good or ill, and a person

not necessarily mean [making]
with a high [desire] [for] [power] may enjoy giving money
to a struggling family simply because it is [satisfying] to
see how much she was able to change that family's life.

* craving: 2%t

persuasive sign that it is an important and fundamental
aspect of human life. Power essentially involves [

[_.___] other people. Researcher David G. Winter
[ ___ ] it as the ability to produce [_________ ]
[ __ ] on another person’s actions or emotions. Some
may [____] [._____ lasa[_____ T I--1 221 [--_]. such as

on the assumption that once one is elected, one will be
able to bring about certain much-wanted changes. But
others probably [____] [-_____ | O [ VR Iy U ) PO
and [______ | I ] directly from being able to
make other people change the way they act. Actually, the
[__]

[o_____ ] appears to be that they want to have an

specific goal of people with a high [_______ ]

on other people’s lives, which does not
necessarily mean [_______ | I | I D I P ]. Having
an impact can be for good or ill, and a person with a
high [_______ | I I I ] may enjoy giving money to
a struggling family simply because it is [_________ ] to
see how much she was able to change that family's life.
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